REV-01 2022/07
MCA/45/50
MASTER OF COMPUTER APPLICATION

SECOND SEMESTER
THEORY OF COMPUTATION
MCA -204
( Use Separate Answer Scripts for Objective & Descriptive )

Duration: 3 hrs. Full Marks: 70

( PART-A: Objective )

Time: 20 min. Marks: 20

Choose the correct answer from the following: 1.X20=20

1. The transition function of the NFA machine is given by.

a. Yy xQ-=) b QxY—%
c. Qxy—Q d Qx¥Y—2 power Q
2. A regular expression for the set of the string starting with ‘a” and ending with ‘a,b’ is
a. a*(a+b)*b b. a(atb)*ab
c. a*ab d. at(a+b)b «

3. Consider the following two statements:
S1: {0"2n |n>= 1} is a regular language
S2: {07m 0”n 0*(m+n) I m >=1 and n >= 2} is a regular language
Which of the following statements is correct?

a. Only S1 is correct b. Only S2is correct

¢. Both S1 and S2 are correct d. None of S1 and S2 is correct
4. Which of the following is false for FA, M=({q0, q1},{a,b},5, q0,{q1})

a. q0EQ b.q0 €F

c.abb€}* d. None of the above
5. The number of states that requires accepting string ends with aaba.

a.4 b.5

c.6 d. Only one state is enough.

6. A transition system accepts a string w € y* if
a. There exists a path that originates from some initial state
b. There exists a path that terminates at some final state.
c. There exists a path that originates from some initial state, goes along the arrows,
and terminates at some final state
d. None of the above

7. A FA(Finite Automata) that is capable of accepting a null string is known as

a. NFA b. DFA
¢. NFA with € moves d. All (a), (b) and (c)

8. Regular expression for the set of string which have exactly a single 1 that end after
any no. of zeroes followed by 1.
a. 1(0)* b. 0°1
c. 10(0)* d. 10*
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